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[1] kOEDOD, QITHTTEIBESOHEMAEZ 2RI,
K 100015 115 () 500
By @ k g g © mg
[2] 2ED0HEZZ( )DOFOHEATRLZIV,
(1) 132g (kg) X 132x0.001=0.132 %% 0.132kg
(2) 1.5kg (g) #x  1.5X1000=1500 %% 1500g
(3) 6g (mg) = 6X1000=6000 %% 6000mg
(4) 221mg (g) =X 221X0.001=0.221 ®z o 0221g
(5) 3.6t (kg) =X 3.6X1000=3600 %% 3600kg
(6) 7110kg (t) =X 7110x0.001=7.11 wx o 711t
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LECHEBEM 1 m T, HOEHOTHE, km . em . mm S5 EEAEDRTOET,

[1] koFEDOD., @, QIHTITELIESOHNEZEXR IV,

KEx 10004 145 (%) o 55
Bify @ km m @ cm mm
[2] SEDEEE( )OFOHL TR LRI,
(1) 450m (km) X 450X0.001=0.45 %z  0.45km
(2) 5.2km(m) % 5.2X1000=5200 %% 5200m
(3) 154.2cm(m) X  154.2X0.01=1.542 %% 1.542m
(4) 835mm(m) X 835x0.001=0.835 %% 0.835m
(5) 3.8m(mm) X  3.8X1000=3800 %% 3800mm




